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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR

MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST

BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and

Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the

appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the

Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

 THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBIJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(i) If a question is left blank i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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logw{l—{lﬂ—(l-—xz)_l}_l} o1

(a) x =100
(b) x=10
(c) x=1
(d x=0

. If A is an integer and a, S8 are the roots

0f4x2—16x+%=0 such that 1 < a <2

and 2 < <3, then how many values
can A take ?

(a) 3
(b) 9
(c) 14
(d 15

6% +7% +8% 492 +102

V7 +443 -4 +23

. What is equal

to ?

(a) 330
(b) 340
(c) 355
(d) 366

If X=y+z y*=z+x and ZF=x+y,
then what is the value of

1 1 1
——+ + ?
X+l .yl EEl
(a) -1
(b) 1
(c) 2
(d 4

S. What would be the- maximum value of O

in the equation
5P9+3R7+208=1114?

@ 9
®) 8
© 5
@ 4

. A is a set of positive integers such that

- when divided by 2, 3, 4, 5 and 6 Teaves—

the remainder 1,2,3,4 and 5 respec-
tively. How many integers between
0 and 100 belong to the set 4 ?

(a) No integer
(b) One

(¢) Two

(d) Three

. In an examination, a student was asked

to divide a certain number by 8. By
mistake he multiplied it by 8 and got the
answer 2016 more than the correct
answer. What was. the number ?

(@) 252
(b) 256
©) 258
d) 260

. In the quadratic equation x*+ax+b=0,

a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values
of a and b are possible in order that the
quadratic equation has real roots?

(a) 6
(b) 7
(c) 8
(d) 16
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1. loglotl il \

TR ?
(a) x=100
b) x=10
(c) x=1
d x=0

Laf A s R R q, poEEHERE
4x2—16x+%=0%n§wm%%
1<o <23R2<B <38, A AH fhaa 7
T HHd € ?

@ 3

b 9

(c) 14

@ 15

62 +7% +8% + 9% +10?

RN W e PR T AT 2
(a) 330

(b) 340

(c) 355

d) 366

,Z]ﬁ-;_xz=};+z,y2=z+x3ﬁizl=x+y%,
1 i 1 i
x+1 y+1 z+l

(a) -1

® 1

(c) 2

@ 4

FTAF TS ?

5. TR 5P9 + 3R7 +208 = 11143 Q &

Frftreaw WA 91 BRI ?

(@ 9
(b) 8
(c) 5
(d 4

. A I 4T quiTent, S 2,3,4, 53R 6/

s R sm W) w1, 2, 3, 4
3R 5 ATFHA BT B, BT Th =97 ¢ |
T A # 0 & 100 % o= o Fra qurien
BAr 7 |
(a) TS gurleR L

() T

©
) o

.%ﬁﬁmﬁ, s Tt @ w fafsa

gE i 89 frmfora ot o ford g1 1 |
el A FEN T H 8/ N R fean AR
IR Tl IR A 2016 31k vy forar | @
e T 49t ?

(@) 252

(b) 256

(c) 258

d) 260

. feoma aeRTr P+ ax+b=0H a 3R b,

= {1,2,3,4) 8 frlt A Ao @
RIS | ¢ 3R b & 9 & W fFam IR
wwa ¥ foms fog feuma wefieRe & A
qreafas 8t ?

(@ 6

(b) 7

(c) 8

@ 16

A — SDC-S-TRD
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11.

12.
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number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers ?

(@) 2
() 3
(c) 4
(d o

Let A = {7, 8, 9, 10, 11, 12} ‘and
B={7, 10, 14, 15}. What is the number
of elements in (4A—-B) and (B-A)
respectively ? s '

(@) 2 and 4
(b) 4 and 2
(c) 2 and 2
(d) 4 and 4
A boy saves Rs. 4:65 daily. What is the

least number of days in which he will be
able to save an exact number of rupees ?

(@ 10
(b) 20
(c) 21
(d) 25
Two men, A and B run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how often does the
winner pass the other ?

(a) Once
(b) Twice
(¢) Thrice

(d) Four times

SDC-S-TRD - A

13.

14.

15.

16.

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion ?

: 15
@ Te00
® 2
8
© =
° 50
(L
Al
If ¢ and B are the two zeros of the

polynomial 25x* — 15x + 2, then what is
a quadratic polynomial whose zeros are
a)™" and 28)" ?

(@) x*+30x+2
(b) 8x* —30x + 25
(©) 8x° - 30x ‘
(d) x*+30x

What is the remainder when 2'% is
divided by 101 ?

(@) 1

M) 11

) 99

d 100

In an office, one-third of the workers are
women, half of the women are married
and one-third of the married women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of married women to married men ?

(a) ' 1:2
by 2% 1

1) -8:1

@ 1:3
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e g rer v o 18TATE,
@ T SR DI WA T IR FATR ?

A b N B 1 Bt B |

.
(b) 3
(c) 4

6

AM T 4 = {7, 8,9, 10, 11, 12} 3R

B=1{7,10,14,15} % | (4— B) 3R (B - 4)
# sagat i gEa s e ?

(@) 23R 4
(b) 4 3K 2
(c) 232
d) 43R4

e Wt wfafed 4-65%. s=mar g | feat
9% <AqH e 1 g, e a8 3
Tt Y G F=T T ? '
(a) 10

(b) 20

{c) 2i

@ 25

Tl 3ATeHt, A 3R BT 0-25 km & MATRR
99 W 4 km & eig @d © | afe s

TR T AT 5 ¢ 42, A ST a1 g
¥ foraet IR amt frspaan @ 2

(a) TF IR
() IR
(c) s R

(d IR &R

13.

frefufea # ¥ F7 @ wF o gen
I SR TR AT FHR ATt

%5

14.

15.

16.

15
1600
23
s
35
50
17
6

(a)
(b)
(©
(d)

afe sigae 25x2 — 15x + 2% 3 Y0F o AR
p &, @ =g femma wgag @ erm o
I (20)" R (28) # 7
(a) x*+30x+2

(b) 8 —30x+25

(c) 8x*—30x

d X +30x

St 2! & 101 @ Rwfsa form s, @
AYEA T BRI ?
(@ 1

®) 11

(©) 99

@ 100

T ittt H, T forers e wfeend €,
wfgenst # @ et wigend faanfea € 3R
Franfea wfeasti # & wa-foaer Afeansi &
a4 € | afe geut # @ dF-duE ge
fanfea gt oik T-faer fefea et &
=4 =, @ fafeq wfeenst w1 fafea
ST & T T FITT § ?

(@) Li2

() 2:1

) ghc B4 |

@d 1:3
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work in 30 hours. B starts working and
had already worked for 12 hours when
A joins him. How many hours should
B and A work together to complete the
remaining work ?

(a) 6 hours

(b) 12 hours
(c) 4-8 hours
(d) 7-2 hours

When the speed of a train is increased by
20%, 1t takes 20 minutes less to cover
the same distance. What is the time

taken to cover the same distance with .

the original speed ?
(a) 140 minutes
(b) 120 minutes
(¢) 100 minutes

(d) 80 minutes

A candidate scoring x% marks in an
examination fails by a marks, while
another candidate who scores y% marks
gets b marks more than the minimum
required pass marks. What is the
maximum marks for the examination ?

@) 100(a +.6)
x=y

100(a - b)
®) X+y

@ 100(61 +b)
y—x

5 100(a - b)
x=3

©20. If p and q are the roots of x*+px +¢ =0,

21

22.

then which one of the following is
correct ?

(@ p=0orl

(b) p‘ =1 only
(c) p=-2o0r0
(d p=-2only

The cost of 2-5 kg rice is Rs. 125. The
cost of 9 kg rice is equal to that of 4 kg
pulses. The cost of 14 kg pulses is equal
to that of 1-5 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ? :

(a) Rs. 2310

(b) Rs. 3190

(c) Rs. 4070

(d) Rs. 4620

Which one of the following is correct in

respect of the number 1729 ?

(a) It cannot be written as the sum of
the cubes of two positive integers

(b) It can be written as the sum of the '
cubes of two positive integers in
one way only

(¢) It can be written as the sum of the
cubes of two positive integers in
two ways only '

(d) It can be written as the sum of the
cubes of two positive integers in
three ways only
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(d)
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THAT & | B 3Hchell U T4 o1 30 &S H g0
R GHAT & | B Y& FAT §, AR Iqh

12 9¢ T F O A4 & oG 4 I8k 914
ferehe o A T € | A g FH
R FA F forw 4 3R B e = frera
w1 HGT ?

(a) 6 He

(b) 12 =2

(c) 48 =2

(d)\7-2a‘%
W@Waﬁmzo%aﬁ%,?ﬁag
T O 9 FA A 20 free F9 o @ |
I FTEfh =Tel & FEH A G Bl T
A | TR T RN 2

(a) 140 fime

(b) 120 FFe

) 100 fiFe

(d) 80 fime

foret atem & uw AWl x% 3 T HLAT

2 3R ¢ 3l & Tl B ST &, SAeAfR G
9Tt S yY% 3 WTH IRl & S8 gAaH
ATATA I 3RT & b 37eh 3(fereh WTH Bl
| e & aftrenan 3w T E ?
100(a +b)

=)
100(a - b)

X+y

(a)

(b)

100(a +b)
y—x
100(a — b)
X=y

(c)

20.qﬁx2+px+q=0aﬁ"i§fp3ﬁ1q%,ﬁ

21.

22,

i s o el 8 2

(a) p=03gar 1

(b) Had p=1

(c) p==22394a1 0

(d) *ad p=-2

25 kg <9 el FWE 125%. © | 9 kg &
FY FHA 4 kg T 6 HHT F TR 2 |
14 kg T Y A 1-5 kg =T Y O=AT &
R ¥ | 2 kg =T <l =it T A S kg

7z (FieR wer) & sReR & | 11 kg 7 &
FAd T8 ?

(a) ®. 2310

(b) ®. 3190

(©) . 4070

d) E 4620

e 1729 & dey # fr=fafaa § @
S 1 Ush 99 T8l © ?

(2) =W QY HATCHS Yuriehl & AT o FWT o
&9 | "ei foar 51 aar @

(b) A T ATCHS YUTTeh & BT & AN &
w9 § Fad T B IR | foar S
Tehel B

(c) @a‘raﬂmimﬁﬁ%aﬁ%u‘m%
w7 & Faa ¢ TR ° forar ST "ahdn
2 . _

(d) =V ¥ aTcAS quIlehl & BT & AW
T H Fad dF WhR A Teran s wenan
?

A — SDC-S-TRD
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AL LLVWLLL U Y LW U GG ULLWVLD O ulu)vount Of

10% on this marked price. What is his
percentage gain ?

(a) 15%
(b) 12%
(c) 10%
(d) 8%

rice of

There are two numbers p and ¢ such that
their HCF is 1. Which of the following
statements are correct ?

1. Both p and ¢ may be prime.

2.. One number may be prime and the
other composite.

3. Both the numbers may be com-
posite.

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

What is
1 : 1 !
+1—2+2—2+ +2—2+3—2+ s

1 1
'\/H20072+20082 SigpRITHD

(a) 2008 - e,
2008

(b) 2007 -1
2007

N
B): * 2t
© 2008

(d) 2008-——
2009

SDC-S-TRD - A

26.

27.

28.

@ _2’1_(log2]

A person can row downstream 20 km in
2 hours and upstream 4 km in 2 hours.
What is the speed of the current ?

(a) 2 km/hour
(b) 2-5 km/hour
(¢) 3 km/hour
(d) 4 km/hour

Consider the following statements in
respect of positive odd integers x and y :

1. ¥*+9% is even integer.
2. ¥ +32 is divisible by 4.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

What are the roots of the equation

X

¥ 2ppaT= g

(a) - 2, 1»—log{E
(b) 2, 1-log[—

log3
log?2

WM NS

() -—2,1—(

log3
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24.

23.
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- _ R 10%H
T AT | SR Wl o F1E 7
a) 15%

) 12%

(c) 10%

(d 8%

ﬁﬁ@?ﬁpﬁ?qu%%w
HCFE, 1 & | ffafaa & & &9 @ F99
e e 7
l.pﬁqaﬁw@ﬂﬁ% ‘

2. TH WEAT AT AR GEY A B
Tohall ©

T o ™ F w1 wEW R EE W

If

(a) Hae 1 3R 2
(b) hae 2 3R 3
(c) Faa 1 3R 3
@d 1,2 3R 3

1 1 1 1 '
1+—i'+—2+ l+*“5+—2+ -
1 2 2 3

\/ 1 1
1+ 5 - 3
.2007 2008

(a) 2008 ———
2008

' 1
20070
®) 2007

1
g) 2007———
© 2008

(@ 2008-——
2009

26.

27.

T S fh ¥R % TR (SIHATE) 2 5 H
20 km AT FaT @ 3R 4R & Wi 2 5
# 4km TTE AT | AR H ARG ?

(a) 2 km/deT

(b) 2-5 km/®eT

(c) 3km/ga

(d) 4 km/®er

qTes fawe gt x ek y & fom
frferfaa waat ) fem Hifs

1. x*+y” |0 quites @
2. ¥ +)%, 40 fawsa @

S e A @ i A/ T R

28.

() FAA 1
(b) HaA 2

(c) 132 gt
d TaAvL,TE 2

5 L ! '
qHieRRor 25422751 =9 F YA FTE 7

(a)_ 2 l—log(%

2
(b) 2,1—[0@[-3"
o 1. [il083 g
ey =2, (logZ]
1 [1og2
@ =l (log3]

A — SDC-S-TRD
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31.

32.

SDC-S-TRD - A

sFeverd .

wested
money 1 some business I the ratio of
Vi2e34445:6: 758910011 412
and the duration for which they invested
the money 1is in the ratio of
| B2 Ol 0 B © it ety R T T S8 g o |
respectively. Who will get the maximum
profit at the end of the year ?

(a) F only

(b) G olnly _
(c) Both Fand G
(d) Neithér Fnor &

21224 452+ 8%2 4 4% + 2130 s divisible

" by which one of the following integers ?

(a) 3
() 5
(c) 7
(d) 11

If 2p + 3¢ = 12 and 4p° + 4pg — 3¢4° = 126,
then what is the value of p +2g ?

(a) 5

o 2
(b) 2

25
(C)—4"
(d) e

The number of digits in 3*° is n and it is
given that log,, 3 =0-4771. What is the
value of n ?

(a) 13
(b) 14
(c) 15
(d) 16

10

33.

34.

35.

What is the unit digit of 7' 2
(@ 9
(b) 7
(c) 6
(d 3

If 4x + 3a = 0, then what is the value of

X vax+a® 12 —ax+d?

X =g x* +a°

4

Ta
7
a

(a)

(b)

32

(C) : "‘%'
g

dy

(d) 5

Incomes of Mahesh and Kamal are in

- the ratio 1:2 and their expenses are in

the ratio 1:3. Which one of the
following statements is correct ?
(a)

Mahesh saves more than what

Kamal saves
(b)
()

Savings of both of them are equal

Kamal saves than what

Mahesh saves

more

(d)

It 1s not possible to determine who
saves more

36. X and Y entered into partnership with

Rs. 700 and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3- months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs. 726. How much of
this should X receive ?

(a) Rs. 336

(b) Rs. 366

(c) Rs. 633

(d) Rs. 663
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30.

31.

G

32,

,Feverﬁm

R ¥ A
Iz 2:3:4:5:6:7:8:9:10 11:12 %
st 3 S e ok R smfy & fig
T ST IEHRT ITA 12:11:10:9: 8
7:6:5:4:3:2:1 | ad &k @ H
Frftreram o fomd v BRI ?
(2) ¥ F

®) ¥ad G

(c) TFI F 3R G
d ANMF,ARG

2!22+ 462+842+464+2130 ﬁmﬁrﬁgﬁﬁ-%
fora quifer & fawmswr @ 2
(a) 3
(b) 5
() 7
@ 11
afe 2p + 3¢ =12 3R 4p>+ 4pq — 3¢ =126
B Ap+2qgFMAMFTR 7
@.5"
21

(b)T

25
4

&)

16
33°ﬁaaa?ra?rnm%aﬁw-s%mw%
£ log,, 3 = 04771%|nem:mw%?
(a) 13
(b) 14
(c) 15
@ 16

11

33.

34.

35.

36.

730 FT THE IF FT R ?
@ 9
(b) 7
(c) 6
(@ 3

gfe 4x +3a=0%, @

x% —ax+a® iE.
X =i x? da’

T8 ?

@ —a

x2 + ax +a?

Ta

®) -

a
32
(©) "%
24
@ o
HRY IR FASGT T A 1:2 F FIIE H
2, 3R S =¥ 1:3% FUE A © |
fraffea s A a s T Tw A&l 8 7
(a) WY T =T, FAA I 5= @ AfF
2
(b) - I QT Y T9d TR &

(c) &Y<l i =, AW i 59 ¥ JAfereh
2 _
(d) T TU AT TN AEH © Toh FiA aAferen

T AT ©

X 3R Y A = 700 3 & 600 % €A
TS AR Y& I ¢ | 94 Ae 916 X
I €21k T 2/7 Toremtet o @ 8k e
MY T H1 3/5 A AGH o5 TR & ST
FRATR | TS F AT H A E,. 726 ® | TR
A T x =t fiemn =nfew ?

(a) %336

(b) ®. 366

(c) ® 633

@) =663

A - SDC-S-TRD
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39

40.

(d)

hours

sfevers .

was opened. At what time will the tank
be filled if pipe Y is opened at 11 a.m. ?

(a) 12:45 hours
(b) 5:00 p.m.
(c) 11:45 am.
(d) 1i:50 am.

A train is travelling at 48 km/hour
completely crosses another train having

half its length and travelling in opposite

. direction at 42 km/hour in 12 s. It also

passes a railway platform in 45 s. What
is the length of the platform ?

(a) 600 m
(b) 400 m
(c) 300 m
(d) 200 m

The speeds of three cars are in the ratio
2:3:4. What is the ratio between the

times taken by these cars to travel the

same distance ?
(a) 4:3:2.

(b) 2:3:4
(c) 4:3:6
(d 6:4:3
If the mean age of combined group of
boys and girls is 18 years and'the mean
of age of boys is 20 and that of girls is

16, then what is the percentage of boys
in the group ?

(a) 60
(b) 50
(c) 45
40

SDC-S-TRD - A

12

41.

B 8
(0]

43.

44.

TS
. I a

The area of four walls of a room is
120 m*. The length of the room is twice -
its breadth. If the height of the room is
4 m, what is area of the floor ?

(a) 40 m’
(b) 50 m?
(¢) 60 m
(d) 80 m?

square of side x and an equilateral
triangle of side y are inscribed in a
circle, then what is the ratio of x to y ?

(a) \E

3

(b) \/;
3

(c)

“[& &

(d)

The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1 : 2. If the total surface area
is 616 cm’, what is the volume of the
cylinder ?

(a) 539 cm’®

. (b) 616 cm’

(c) 1078 cm’
(d) 1232 cm?

A cubic metre of copper weighing

9000 kg

is rolled into a square bar 9 m
long. An exact cube is cut off from the
bar. How much does the cube weigh ?

(a) 1000 kg

(c)

3
300 kg
(d)

500
— k
3 g


http://upscfever.com
http://upscfever.com

38.

39.

- ®
©

sFeverd
, DESRIES

X @1 @ | Fh fraa o ) S afy

qE9 Y WId: 11 s @il ST g ?

(a) 12:45 Qe
(b) 5:00 IS
(€)' 11:45 FTg
(d) 11:50 F=&T8

TS XEATS! ST 48 km/5ieT & el &I &, Aot
HoTE & e TS HY T RS Y,
e fewr # 42 km/sier & 99 W@ R,
125 ¥ 9 ORE & IR FAl § | I8 T A
lﬁwrrf%ﬁ’r%sﬁgam“r%lﬁm-ﬁ
warg fot 8 7

(a) 600m

400 m

300 m

200 m

@
7 R B T A 203 4 2 |

. R GRT UF T G 7F FA H o/ a1l

(@)

40.

(©)

TG T AT 4T @ ?
42332
2:3:4
4:3:6
6:4:3

®)
(c)
@

of e o e & O g W

AT A1G 18 W © AR ASH hl TG

TR 20 3R FRAT HT A F A 16 8,

a aue § gt i wfasrar =T ¥ ?
(a)
(b)

()

13

41.

42.

43.

44.

@

@

TEh HR HT TR GEART & &6 120 m’
TITMA TR IR NSRRI FEIR |
7fe TR it F9E 4 m §, A B HT SABA
TR ?
(a) 40m’

®b) 50 m?
(c) 60m’
(d) 80m’

af T x HT TH T SR Sy HCE
GueTg By, T 79 # srmgdl 6 W €,
Fﬁx'&yﬁ?ﬂ@qﬁﬁm%?

@) E
3

() J; 4

©

(d

T W& IR S o 9% I8 STkl 3R 5
I8 Sl 1 I 1:2 8 | afe g1 g8
A9 616 cm® §, A e T AT FT

SRS [

3

(a)
(b)
(c)

IS F TE A AR AN, TrEewr e\
9000kg%,9m?—i3‘|§'cﬁ’f@mﬁv_vﬁ
# afcra forar ST € | U 31 U9 =W
faeet @ wrET ST B | W 99 6T a9
foram g ? '

1000 kg

1000

3
300 kg

500

(b)
(©)

@ kg

g

A - SDC-S-TRD
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46.

47.

/F e V e /‘ ’_r,ﬁ/ n and 48. In a circle of radius 3 units, a diameter

y full
pags Ol wheat can pe empiied, 1I space
required for the wheat in each bag is
196 m’ ? .

(a) 264
(b) 201
(c) 132

(d) 105

Let ABC be a right angled triangle with
BC=5cmand AC=12 cm. Let D be a
point on the hypotenuse -AB such that
ZBCD =30°. What is length of CD ?

- 60
a —
(a) T
b 1_70m
b %

(c) —120 cm
5+12+2

120

AY e
) S+12\/§ CI-n

Two circles touch externally and sum of
their areas is 1307 cm” and the distance
between their centres is 14 cm. What is
the difference in the radii of the circles ? .

(a) 5 cm

(b) 6 cm

(¢} 7cm

(d) 8 cm

SDC-S-TRD = A"~

14

49.

50.

51.

AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP ?

(a) 3++10:3-4/10
(b) 3++/8:3-4/8
©) 3++3:3-43
(d 3:43

What is the number of rounds that a
wheel of diameter lil,m will make in
traversing 7 km ?

(a) 3300

(b) 3500

(c) 4400

(d) 4900

A building is in the form of a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

contains 67% m> of air. What is the
height of the building ?

(a) 6m ’

(b) 4m

(€).3m

(d 2m

The radius of the base and the height of
a solid right circular cylinder are in the
ratio 2:3 and its volume is 1617 cm’.
What is the total surface area of the
cylinder ? '

(a) 462 cm’

(b) 616 cm’

(c) 770 cm’

(d) 786 cm?
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sFeverd .

R R E
o1 @ fFd 57 g ©, afe uedss 4 ®
1 & o 1:96 m?* SRTE 1 Saearehal & ?

(a) 264

(b) 201
(c) 132

(@) 105

46.

O

47.

" g fF T wHeRt B ABC ©

STl BC=5cm 3R AC=12cm?e | A
AT ol AB ) T foig D30 TR ® T6
ZBCD=30°% | CD & s 1 © ?

60 -
— cm

(a) =

17
— Cm
2

120 e
5+12\/E

(c)

120

o st1243

&g 4 9 srer: sl aRd € SR I
] BT AWEA 1307 cm’ §, 3T I
ﬁ%ﬁ?.ﬁ%@_l4cm%l§?ﬁﬁ
ol s R AT g 7

(a) 5cm
(b) 6 cm
(¢) 7cm

(d 8cm

15

48.

49.

50.

3 1 from 3 T 39 #, = 4B,
D ZHTE et Uk ST & P R weld: Hfaeeg -
FaT @ | afc AP>BP ®, @ AP &1 BP ¥
ST T 7

(a) 3++/10: 3-4/10

(b) 3++8:3-4/8

) 3++3:3-43

@ 3:43

Eﬁﬂ%d@r&wlw%,‘&ﬁ%mww
e ufegdn 7 km F @ @ FA F feg
T ?

(@) 3300

(b) 3500

(c) 4400

d 4900

TF TART A F AHR A 36 UhR ¢ &
I F AW W AN ot @ € |
TR &l 4TS, S & YR i Froan 6
A T R FRA A 67-L m’ e 2
TR Y SATE T8 ? -

(a) '
(b)
(©)
(d)

6 m
4 m
3m

2m

. TF 3 Fea<d Seq & AUR hi e

3R IEh! FE w1 AT 2:3 ®/, IR
ZHHT AT 1617 cm® B | ST &1 FA
YT &he T8 ?

(a) 462cm’

(b) 616 cm’

(c) 770 cm®

(d) 786 cm’

" A — SDC-S-TRD
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53.

54.

5S.

~SDC-S-TRD - A

,F e VE/' ’_r’ﬁ/ sel of 56. In an equilateral triangle another

5 the
CUSL UL patiuny por syuarc veuumetre ?
(a) Rs. 8
(b) Rs. 9
(¢) Rs; 13
(d) Rs. 14

If a quadrilateral has an inscribed circle,
then the sum of a pair of opposite sides
equals

(a)
(®)

Half the sum of the diagonals

Sum of the other pair of opposite
sides
Sum of two adjacent sides

(©)
(d)

None of the above

A circle and a square have the same
perimeter. Which one of the following is
correct ?

(a)
(b)

Their areas are equal

The area of the circle is larger

: -
(c) The area of the square is 7 times
area of circle

The area of the square is x times
area of circle

(d)

A drinking glass of height 24 c¢m is in
the shape of frustum of a cone and

~ diameters of its bottom and top circular

ends are 4 cm and 18 cm respectively. If
we take capacity of the glass as 7x cm’,
then what is the value of x ?

(a) 824
(b) 1236
(c) 1628
d) 2472

16

<

58.

59;

equilateral triangle is drawn inside
joining the mid-points of the sides of
given equilateral triangle and the
process is continued up to 7 times. What
1s the ratio of area of fourth triangle to
that of seventh triangle ?

(a) 256 :1

(b)y 128 :1

(c) 64:1

3 R

Rain water from a roof 22m x20m
drains into a cylindrical vessel having
diameter of base 2 m and height 3-5 m.
If the vessel is just full,. what is the
rainfall ? :

(a) 3-5cm

(b) 3 cm

(¢) 2:5cm

(d) 2 cm

The height of a cone is 60 cm. A small
cone is cut off at the top by a plane
parallel to the base and its volume is

é the volume of original cone. What is

- the height from the base at which the

section is made ?

(a) 15 cm

(b) 20 cm

(¢) 30 cm

(d) 45 cm

If two tangents inclined at an angle 60°

are drawn to a circle of radius 3 c¢m, then
what is the length of each tangent ?

(a) 343 cm

(b) /3cm
(c) 6 cm

(d) 2+/2 cm
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53.

54.

55.

2FEVeLY o e

Foerrdt Y B e B 2
(a)
(b)
(c)
(d)
afe o Iqs # UF sada 2, @ aHE
HTISAT o T I3 HT ANTHA BRI

(a) Taurt & @ =1 amen

(b) W@ HASAT & GER I A
(c) T ATHN HSTIAT BT AR

d) STE # &/ R €

T I AR T o AR S |
feffag i s s adr & ?

(a) ST B R E

(b) T T kel W ©

T. 8
g9
.13
T, 14

() e, 71 % el 7 2

2
(d) = T &rTher, It % &R T 72 T

G o U firema frh ST 24 om ® |
et s & fows & IR # 8, wWa
et otk S -game R )t 7 = s
4cm3R 18cm B | qﬁﬁ[ama?[ R
nxcm3%,f‘ﬁx?¥fmﬁw%?

(a) 824

(b) 1236

(c) 1628

d) 2472

17

ot <t st & weafargat A Sied g¢
Rk 7 IR A S 2 ﬁa%‘ﬁ"'%
&hel 1 WIdd BUS & gEhe &

AT § 7

7.

58.

59.

(@) 25651
(b) 128:1
(c) 64:1
(d 16:1

22 m x 20 m#! & B & a9 &1 5 2 m
A & AR TI 3-5m A% ad TF
SRR aT # firar @ | Afe o Sieh-dien
R W AT 8, ?ﬁ?ﬁﬁ?ﬁﬁ@%% 7

(a) 35cm

(b) 3cm
(&) 2:9cm
(d 2cm

T 91 <l ST 60 cm R | TEH SR F
AR T a1 ° 30 Y R TS BT 9%
et ST ®, R FHHT AT A GF F
ST T g7 & | SR/ e S 1 B
el W e o WY ?

(a) 15cm

(b) 20cm

(¢) 30cm

(d) 45cm

afs 60° % woT W Feht gF o1 wsl st
1 3 cm froat A T 9w % forg fafa
o ST &, aﬁu@%w&f%m@rmﬁ
Eﬂ:n%?

(a) 3+3cm

(b) 3 cm

(¢) 6cm
(d) 242 cm

A — SDC-S-TRD
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“radius () %}_

(a) 367 qm3 | ®) ny

(b) 187 cm’ .

(c) 97 cm’ () %
(d) 67 cm’

@ =

61. The sides of a triangle are given by

a? +b%, \c? +42 and (b+c) where

L e : . For the next three (03) items that follow :
a, b, c are positive. What is the area of ) ; -

the triangle equal to ? A tent of a circus is made of canvas and is in
‘ the form of right circular cylinder and right

[a2 £ B2 4 2 . | circular cone above it. The height and

(a) 5 ' ' diameter of thé cylindrical part of the tent are

5m and 126 m respectively. The total height
of the tent is 21 m. '

\/azbz +b7'c2 -+ cz_a2

(b

2 . | 64. What_ is the slant height of the cone ?
ab+0) (2) 60 m o
B g | (b) 65m
' (c) 68 m
3 2b2 2.2 22
d \/(_a +b°c” +c“a”) @ 70m

2
‘ 65. What is the curved surface area of the

62. What is area of largest triangle inscribed cylinder ?
in a semi-circle of radius r units ?

(a) 1980 m’
(a) ' #* square units : ) 2010 m?
(b) 2/ square units | (c) 2100 m®
(c) 37 square units (d) 2240 m®

d) 4+* square units : :
@ 1 66. How many square metres of canvas are

used ?

63. The diameter of the front wheel of an (a) 14450

engine is 2x cm and that of rear wheel is
2y em. To cover the same distance, what (b) 14480
is the number of times the rear wheel

revolves when the front wheel revolves () 14380
n times ? (d) 14850

SDC-S-TRD — A | 18
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61.

- ©

62.

63.

sFevers

(@) 367 cm’

(b)) 187 cm’

() 97 cm’

(d) 67 cm’

it P &t aement @ Va? +52,

Vet +a? IR (b + ¢) TR ==k Topar wmar
®, S8l a, b, ¢ TATHS © | Bt 1 gt
forereh s ® 7 -

\Jaz +b2 +c>

2

(a)

\/azbz +b2c? + 2a?

®) - :

alb+c)
2

V3(a26? + B2 +2a?)
2

(d)

Bt r st & T g F SiRta SR
TR g 5 BrSt 1 fAwet 1T @ 7
(a) #awfmﬁai

(b) 272 = Tl

(©) 3ria1f3a:r5ai |

(d) 477 Rt e

G S & 9 IR = 2x om & AR

fiea ofed w1 =A@ 2y cm R | TF T Q@
T A & oy e afed «t ot IR

Y[R BT, AfE 3 afeat » R gwar © 7

19

SIE

(b)

= |3

(©)

<[ &

(d

:IQ

T W (03) weeia % forg o A= R
™ E: | .

TS TXHE 1 TH] Hedd T &1 § | 98
T Se & ' H 8, Toes s a3
TF T | T & SRR HET B I IR
E FAN: SmIAR 126 m B | T it o
AR 21me |

64. S Y KRS IS frart & 2

(@) 60m
- (b) 65m
(c) 68m
(d 70m

65. SIS T 5k T8 SR fohaeT © ?
(a) 1980 m?
() 2010 m’
(c) 2100 m?
(d) 2240 m?

66. foram =rfitex Swrw wigeh g3 ?
(@) 14450
(b) 14480
(c) 14580
d) 14850

A — SDC-S-TRD
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68.

69.

ameter

cfeve@ﬁ“m

speed of 66 km/hour. What is the
number of complete revolutions each
wheel makes in 10 minutes ?

(a) 4275
(b) 4350
(c) 4375
(d) 4450

What is the area of a triangle with sides
of length 12 cm, 13 cm and 5 cm ?

(a) 30 cm’
(b) 35 cm’
(c) 40 cm’
@ 42 cm?

If the perimeter of a:circle is equal to
that of a square, then what is the ratio of

. area of circle to that of square ?

70.

Gy 2247

(b) 14:11
(¢) . 7522
(d 11:14

ABCDA is a con-cyclic quadrilateral of
a circle ABCD with radius r and centre
at O. If AB is the diameter and CD is
parallel and half of 4B and if the circle
completes one rotation about the centre
O, then the locus of the middle point of
CD is a circle of radius

@ 3
2r
k). 3

SDC-S-TRD - A

Ths

72.

73

2«/51‘

5 5
A3
R

If sin@ + cosO = g, then what is

sinf — cosO equal to ?
(a) 0

By =
®
© 1

@ 2

If sinx+sin’x=1, then what is the
value of cos®x + 2cos’s + cos*x ?

(a) O
(b) 1

(c) 2
(d 4

A man from the top of a 100 m high
tower sees a car moving towards the
tower at an angle of depression 30°.
After some time, the angle of depression
becomes 60°. What is the distance
travelled by the car during this time ?

(2) 1003 m

& 20(;’\/5 "

© 10043 i
3

(d) 20043 m
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68.

69.

70.

sFeverd

80 cmg |
U & - | < -
tr%mloﬁﬂzﬁﬁm%antguftphaﬂm
EF
(a) 4275
(b) 4350
(c) 4375 |
d) 4450
12cm, 13 cm 3R 5 cm T T STl
AT Toh P 7 &het fopaar 2 2
(a) 30cm?
(b) 35 cm?
(c) 40cm’
(d) 42 cm?
afc w99 it afikfr s =t it viomo &

SRR 8, d I & &AHA &I, a1 & &THe
& WTF AT HT BRI ?

(@) 22:7

(b) 14:11

ey 7:22

d 11:14

r AT 3R O & a1l U g9 ABCD S

| T UHF S ABCDA R | Rt 4B

= 8, 3R CD % GHIRR 3R AB &7
T ® | Afe 39 I 0% IR 3R T ol

T HAT & @ CDF 7ex foreg 1 formgm,
fraft B T um ga @ 2

()’

(b)

21

71.

72.

73.

) 2«/§r
3

fr

—

(d)

afs sin6+c039=i2_7— 2 @
sinf— cosd Terwch RTeX @ ?
(a) 0

(b)
(c)
d 2

afQ sinx +sin®x = 18, a

I
2
1

“cos®x + 2cos®x + cos'x FTHH TR ?

(@ 0
(b) 1
(© 2
d 4

100 m 3 T 2R & 9 & T et 30°
HATHT I A T HR ! TR hY 3R 3
B Ul § | B §HT A1E, T B
60° BT 1A & lﬁﬁwﬁmmm?ﬁ
Tt R Rt R 7

(@) 100v/3m
200+/3
m

3

1003
'_'—'3 m

200+/3 m

(b)

(c)

(d)

A — SDC-S-TRD
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IR UUDULYL LV uugiv s vivrwwon Of
~ the top of the tower to be 30° and 60°. %) § .
What is the distance between the two R L
men ?
@ 10043 m 78 If A=sin’0 + cos'0 where osa<§,
(b) 7 53 m then which one of the following is
correct ?
© 1003 L (a) 1452
3
(b) % £ALT
(d) 6043 m
13
; bl
75. What is the value of , ) 16 il
cosec?68° + sec?56° — cot’34° — tan’22° ? 3 13
(d =<A4<—
(a) 0 4 16
e ,
®).2 79. What is cotA+cosecA—1 equal to ?
o) 1 cotA—cosecA+1
1+cos 4
(a) ———
@) A : sin A
76. If 2y cos@ = x sin6 and (b) 1-cos 4
2x secO — y cosecB = 3, © sind
hat is x* + 4y 1to?
then what is x” + 4y” equa | 0 i i+ sin A
(a) 1 " cosA4
(b) 2 ‘ 1—sin 4
: (d)
© 4 cos A
(d) 8 : 80. Consider the following :
1. sin 1° >sin 1°
77. If sinf+ cosf= —l+—2€ here 0 < 6 <%, 2. cos 1° < cos 1°

3. tan 1° > tan 1©

Which of the above are not correct ?

then what is tan@ + cotf equal to ?

(a) ii_ : (a) 1 and 2 only
4 | | . (b) 2 and 3 only
5 : (¢) 1 and 3 only

®) 713 (d) 1,2and3

SDC-S-TRD - A : 22
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- (9

78,

76.

047

2
_(c) 4
8

sFeverd.

)° 3R 60°
® G ® | GH ameRE & e i gl
fepar 8 2 |
(a) 10043 m
(b) 7543 m

10043
m

3
d 60/3m

cosec’68° + sec?56° — cot?34° — tan?22° &
A a1 ¢ 7

(a 0
® 3
() 1
d 2
afg 2y césezxsinB Si

2x secO—y cosecO=3 &,
Tt x? + 4y Foreh SRR @ 7

(@) 1
(b)
d
-

qﬁsm6+cosﬂ———% @ 0< 9<E
2, @ tand + cotd %H%W% ?

(a)g_
1
(b)?/—g

23

78.

79.

80.

() 3

4
(d 5

af A =sin’0+ cos*0R, STEl 0< 0 < er- g,

Tt frfofaa 9 @ o919 a1 v w8 @ 2
(a) 142

(b) %SAﬁl
(c) —<4<2
@ S el

cot A+cosec 4—1

forasr s 8 2
cotA—cosec A+1

(2) 1+.cos'A
sin A

l1-cos A
(b)

sinA

f el
© l+smA

cos A

cos A

Freferfiae W frem iforg :

1. sin 1° > sin 1°¢

2. cos 1° < cos 1¢
3. tan 1° > tan 1°¢

I A | B Y T T
(@) haer 1 3R 2
(b) FaeT 2 3R 3
(c) Fad 1 3R 3
d 1,2 3R 3

A — SDC-S-TRD
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82.

83.

SDC-S-TRD - A

sFever

< 90°,
1an x
then what is the value of x ?
(a) 15°
(b) 30°
(©) 45°
(d) 60°

If the length of the shadow of a tower is
equal to its height, then what is the Sun’s
altitude at that time ?

@) - 15°
(b) 30°

(c) 45°

() 60°

Consider the following :

| cos 752 + sin 12° cos 18° _
sin 15°  cos 78° sin 72°
5. COs 35° . sin 11°
sin 55° cos 79°

cos 28° cosec 62°=1

3. sin 80°

—sin 59° seé 312'=40
cos 10°

Which of the above are correct ?
(@) 1 and 2 only'
(b) 2 and 3 only
(c)
(d 1,2 and 3.

1 and 3 only

24

84.

85.

86.

A pole stands vertically inside a
triangular park ABC. If the angle of
elevation of the top of the pole from
each corner of the park is same, then in
the triangle ABC, the foot of the pole is
at the

(a) Centroid

| (b) Circumference

(c) Incentre

(d) ' Orthocentre

What is the value of
tan1°tan2°tan3°tan4® . . . tan89° 7

(a O
(b) 1

() 2

@ 3

The average score of class X is 8&3.
The average score of class Y is 76.
The average score of class Z is 85.
The average score of class X and Y is 79
and average score of class ¥ and Z is 81.
What is the average score of X, Y'and Z ?

(a) 815
(b) 80-5
c) 790

@ 780


http://upscfever.com
http://upscfever.com

82.

83.

,Feverﬁ

tan“x
W x T A FT© ?

x<90°®

(a) 15°

(b) 30°

(c) 45°

d 60°

gfe et TR &t o £ T=E STd

a#za%mm%?ﬁwwwaﬁaﬂ
EWQT]%TCHT%?

" (a)- 15°

() 30°
(c) 45°
d) 60°

ﬁr-r%ﬁaaq'{ﬁaﬂ?ﬁﬁm

cos75°
sin 15°

_cos 18°
sin 72°

sin 12°
cos 78°

1.

sin 11°
€08 79°
cos 28° cosec 62°=1

cos 35° B
sin 55°

sin 80°
cos 10°

SHEA AR A TEE 7
(a) Shaer 1 3R 2

(b) Fad 2 3R 3

(c) Faa | 3R 3

(d) 1,é3ﬁt3

g —sin 59° sec 31°=0

84.

8S.

e Bt a1 (SU) ABC & 37 T
wH IAlER el © | gfe urdh & vl

TN F N I I FH R TR

AP ABCH @ FTUE TR W E ?

() FE

(b) uRfy
() 3 ¥

(d) = Fe

tan1° tan2° tan3° tan4°®. . . tan89° &1 HH

w18 ?

(@ 0

(®) 1

86.

(c) 2

@ 3

e X o 3ftad 3k 838 | we ¥ & 3it|d
3 76 ¥ | T Z F 3Nad 37 85 T | e
X 3R e ¥ & 3ftad 3k 79 B, 3R wem
Y 3R &M Z & sited st 81% | X, vk
Z o7 3Ha I W1 ?

(@) 81.5

~(b) 805

) 790
d) 780 |

A — SDC-S-TRD


http://upscfever.com
http://upscfever.com

88.
- observations 1s 20-5.

89.

90.

sFevers

screte
valuesx+4, X~ 35, X—4d,x=35,x~2,
x+0-5, x—0-5, x+5, then what is the
median ?

(a) x—1-25

(b) x-0-5

(c) x+05

(d) x+1:25

The median of set of 9 distinct

If each of the
largest 4 observations of the set is

increased by 2, then the median of the

new set
(a)
©
©)
@

is increased by 2
is decreased by 2
is two times the original median

remains the same as that of original
set ]

A cricketer has a certain average of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his
average by 6 runs. What is his new
average ?

(a) 42
(b) 47
(c) 48
(d) 60
The mean of 20 observations is 17.
On checking it was found that the two
observations were wrongly copied as

3 and 6. If wrong observations are
replaced by correct values 8 and 9, then

what is the correct mean ?

SDC-S-TRD - A

26

91.

92.

93.

(a) 17-4
(b)
()

(d)

16:6

15-8

14-2

Number of credit cards held by an
individual can be treated as

(a) Qualitative data

(b) Discrete data

(c) Categorical data

(d) None of the above

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of

the complete class is 72, then what is the
average marks of the girls ?

(a) 64
(b) 65
(c) 68
(d) 74
A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108° angle at' the centre. What is the

percentage of income from corporate tax
to total funds ?

(a) 20%

(b)) 25%

(c) 30%

(@ 35%
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88.

89.

90.
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U A - Lo - ([
x—0:5,x+ 51 8, q1 ATfeyw 71 8 ?
(a) x-125
(b) x—05
(c) x+0:5
@ %125

9 T Seront < = i wifee 2058 |
afq T=7a & 4 WE8 I3 YHON A ¥ TAh
<! 2 3iehi & sfgl fearm St ot 12t wg== <t
Hifexent

(a) 2?&35{1&%

(b) 29 e VT
(c) ¥ AIEHHT T QAT ©

(d) W& TG I ASTRT & q9E 6
&l ©

s ok Raemgl &1 10 wiferat &1 ws
fofsaa staa @ | wRedl ol & sER
1083 s, fSree SaeT 3itad 631 9 5g
T | FEHT AT 3T FAT © ?

(@) 42
(b) 47
(c) 48
(d 60

20 SeT0Tl 1 A 177 | T A R T8
aTT T TR G Her S (A &) 3 3R 6%
Y # Teld IART 97 97 | Afe e et &
I R el A 8 3R 97@ fd s €, At
e e R ?

27

91

92.

93.

(a) 17-4
(b)
(c)

(d)

16-6
15-8
14-2

B v . .Y

€T &l fhe 9 § HET ST T © ?

d) Sudt # & F 7

100 fermfdfat <t wer e & 70 w=F T,
e fawa # sitga s 758 | afe
Rl et o aftad sk 72 €, A et &
3ftaa 3k fram € 2

@) 64
(®)
(c)
(d)

64
65
68
74

T e, fHE we & g fafy &
afteneor Y Frferat & fafter aal & sew
qutar ® | et o & forg e @ uw
faw &=, I W 108° =T A0 ST R |
FrA R 8 o fafy & fog s &

- wifdrdT @ g

(a)
(b)
(c)
(d)

20%
25%
30%
35%

A — SDC-S-TRD
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96.

97.
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1. The classes of type 15-19, 20-24,
25-29 etc. are exclusive classes.

2. The classes of type 15-20, 20-25,
25-30 etc. are inclusive classes.

Which of the above statements is/are
correct ? ‘

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Suppose the class interval 10-15 has

frequency 30, then what is the frequency
density of this class interval ?

(@ 2
(b) 3
(c) 5
@ 6
Let S be a set of first ten natural

numbers. What is the possible number of
pairs (a, b) where a, b € Sand a # b

such that the product ab (>12) leaves

remainder 4 when divided by 12 ?
(a) 4

(b) 6

(c) 8

(d 10

What is the remainder when _
13°+14°+15°+16° is divided by 29 ?

(a) 8
(b) 5

SDC-S-TRD - A
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98.

99.

100.

() 3
(d 0
What is the difference between the sum

of the cubes and that of squares of first
ten natural numbers ?

(a) 2280
(b) 2640
(c) 3820
(d) 4130
A motorist travels to a place 150 km
away at an average speed of 50 km/hour

and returns at 30 km/hour. What is the
average speed for the whole journey ?

(a) 35 km/hour
(b) 37 km/hour
(c) -37-5 km/hour
(d) 40 km/hour

1
—'1=2, then what 1s x
1+—T
2+—
3

If x+

equal to ?

(a)

(b)

(c)

(d)
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1. 15-19, 20-24; 25-29 e WER
F aif, sraafta & f € |

2. 15-20, 20-25, 25-30 3Mfe WHKR

& o, srafde o f € |
Iudeh H § A 61 /8 FA del 2/ 7
(a) Fae 1
(b) e 2
(c) 132 Qi
d T LAE 2

7 it fd @ s=Re 10-15 &
IRARAT 30 8, O T a0 S
FRARAT b fopaem @ ?

(@) 2

(b) 3

() 5

d o6

A dtforg fo6 S, wam @ gmoef wenatt o
T 9= ¢ | T (a, b) H TR T
T, el a, beS3IR a=b3W =R ¢ f&
Wab(>12)ﬁ1zﬁﬁwﬁmaﬂ%qt
AN 4 /AT ®© ?

@ 4

9s

(b) 6
() 8
@d) .10

13%+14°+15°+16° =1 29 ¥ fawmfsa f&

-GI'I%[_TR AYR FIT T&dT © ?

(a) 8
(b) 5

29

98.

99.

(c) 3
@ 0

WO S8 G0 GEATSAT o BT oh AT 311K
aﬁaﬁ%ﬁwﬁ%aﬁaaﬂwﬁﬁm
qa R ?
(a) 2280
(b) 2640
(c) 3820
d) 4130

T WX e 150 Rt )X o e A
A 50 foret /5 Y st iy @ T @

3R 30 foprt /5 <t iy & e @ | wwgel

100

;?J'Fq'x+

A % forg sitea iy fra @ 7
(@) 35km/%eT

(b) 37 km/¥eT

(c) 37:5km/"a

(d) 40 km/"

e %s
1+’——1 3
2+—

3
at x foras aER B

.

(@ 10

13
®) 10
11

(©) 10

4

(d) 1o

A — SDC-S-TRD
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,Fevefﬁ

YfeeraT @i &t 7 &gl WY ad a& 7 aid

- @, : SDC-S-TRD Theror qiedeRT SrsEw

qreroT fea
YR Tt

;@ Gi ' i : 100

S LR . | :
THET TR B T g W1E, A 38 Thew gitaet Y ugare s @ o TR g W faen
T, HeT AT X TAT TS5 St wewiay vfd A F | wfe v @, A @ e wdverwr gfecrewt | www A |
Faan et W@ fof OMR Swr-w=re #, I v e, A 7w S aieror gieten ssw A, B, C
D =, mﬁwﬁmﬁ;ﬁwmﬁaﬂ%%wﬁaﬁtmmﬁﬁﬁ@mﬁmﬁ% | Foeett
Y e St =1k / e it et ® sw-wse feen a= faan smarm |
70 e gieren W § 5y e e A et
3T Srgehmieh foraem @ | Wi giera w aﬁtw
7 ford |

| wqﬁmg%vﬂﬁ 100 weier (we) feg g & |mmmar%a&aﬁ?aﬂvﬁa?ﬁﬁm% | S TS

¥ R wegeR (IR) fow g E | T ¥ O FgeR F A o, R a9 IeR-1e R sifa aRe wed @ |
afe st TEn ot 5w @ sifren wegeR wE €, 1 96 TR W s R S anvent waEkw @ | W
TN & foQ Faw T AR AT ¢ |

ST 3o et e 3rer @ o Y IoR-1ee g sifehd R € | IR-Te 7 fow g fda SR |
T WA F 3 T ¢ | | | _

T8 ved f& s aerr gftas & fafim weish F wgeR IW-1F R 3R FHAT I8 HW, CIECAR CEl
OO & A1 U et & AR §9 e Sw-uEE § o © |

3T 3T AT TGTRI Bl JTR-TAh H WA & G AT GUET & THIIA R Ao I -U A& i Fi
& | 3ATUT T W RV g o S el Al € |

. e T & Torg e aier qieaeT & o H 6o € |
10.

T 39U & fog Tvs -

TFeqfaes wew-T=t # Iwitar g g e aa It % fog gvs fear s |

() WS W F e IR 35Fe 7R € | SHIGIR gRI 9l Ued & forg fog 1 v e 9w & fog
7w = Faa firg g st 1 uew-foetE que & w9 # wrer S | ,

(i) AR FE IfgaR TF ¥ it SR o €, A1 T e gag " S, gty fiu g ol | |
T SR gEl g @, fe ot 3 e & forg Swdwar € e we & qve fam s |

(i) TfE IGER GRT &1L U & TEl fohaT oIrer 2, a{ﬂfﬁ@ﬂﬁmmaﬁtﬂﬁﬁmm%aﬁw
e & forg @E gve A foan smom |

Wa dF ATqHT g GO GIeTent @i ot 7 gl 9¢ aF a& 7 @it

Note : English version of the instructions is printed on the front cover of this Booklet.
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